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QUESTION 1

Which product is a single-instance, multitenant integration platform as a service that provides a unified online
development and management environment? 

A. MyService 360 

B. ViPR SRM 

C. Data Protection Advisor 

D. Dell Boomi 

Correct Answer: D 

 

QUESTION 2

Refer to the exhibit, which represents a consumer environment consisting of multiple VMs running Windows operating
systems (OSs). 

For compliance reasons, the cloud service provider maintains version control over the OS provided to the consumer.
The service provider also ensures that the configurations of the VMs comply with the configuration policy for the OS
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version. The configuration policy includes the two conditions shown in the exhibit. A monitoring tool verifies VM
configurations against the configuration policy and provides the compliance results shown. 

What is the percentage of compliance non-adherence? 

A. 30.12% 

B. 33.34% 

C. 58.33% 

D. 66.67% 

Correct Answer: D 

 

QUESTION 3

Which method optimizes network performance by distributing network traffic across the shared bandwidth of all the
ISLs? 

A. Link aggregation 

B. Network zoning 

C. Network segmentation 

D. Link failover 

Correct Answer: A 

 

QUESTION 4

A cloud service provider uses a resource pooling approach to improve the utilization of resources by sharing them with
multiple customers. What mechanism should the cloud provider deploy to prevent one consumer from accessing the
virtual machines of another consumer? 

A. Hypervisor-based resource pooling 

B. Secure multitenancy through isolation 

C. Pooling of resources through multitenancy 

D. Virtual machine-based resource pooling 

Correct Answer: C 

 

QUESTION 5

Which phase of the cloud service lifecycle involves making business use case decisions for the cloud service offering
portfolio? 
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A. Service Termination 

B. Service Planning 

C. Service Creation 

D. Service Operation 

Correct Answer: C 

 

QUESTION 6

What is a function of service portfolio management? 

A. Ensure compliance to industry standards 

B. Enable capacity and availability management 

C. Perform market research and collect information about competitors 

D. Collect information about cloud services and their constituent elements 

Correct Answer: B 

 

QUESTION 7

Which process involves determining the optimal resources required to meet seasonal spikes in resource demand? 

A. Configuration management 

B. Change management 

C. Capacity management 

D. Incident management 

Correct Answer: C 

 

QUESTION 8

What is a benefit of the active-active cluster implementation? 

A. Enhances performance and availability of a service 

B. Lower total cost of ownership for providing services 

C. Improves security of application running on the cluster 

D. Ability to run multiple services on one physical compute system 

Correct Answer: A 
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QUESTION 9

What can an IT department do to better meet IT challenges and support digital businesses? 

A. Become more technology centric 

B. Focus on delivery and management of digital assets 

C. Become more service centric within cost constraints 

D. Focus on providing services without being distracted by costs 

Correct Answer: A 

 

QUESTION 10

Which software-defined storage controller function gathers data about the components and brings them under its control
and management? 

A. Storage provisioning 

B. Storage discovery 

C. Resource abstraction and pooling 

D. Storage component management 

Correct Answer: C 

 

QUESTION 11

Which activity is conducted during the service termination phase of the cloud service lifecycle? 

A. De-provisioning the service instance 

B. Asking for the service contract 

C. Establishing the billing policy 

D. Providing the final service assessment report 

Correct Answer: A 

 

QUESTION 12

A service is offered to consumers from 9 A.M. to 5 P.M., Monday through Friday. The service experiences downtime
from 3 P.M. to 5 P.M. on Wednesday of a given week. 

What is the service availability for that week? 
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A. 95.00% 

B. 95.88% 

C. 96.42% 

D. 98.33% 

Correct Answer: A 

 

QUESTION 13

An organization needs to deploy remote replication between two sites that are 100 km (62 miles) apart. The
organization requires a near zero recovery point objective. 

Which solution would you recommend? 

A. Hypervisor-based asynchronous replication 

B. Synchronous replication 

C. Snapshot replication 

D. Asynchronous replication 

Correct Answer: B 

 

QUESTION 14

Which compliance standard provides policies and procedures to optimize the security of credit card transactions? 

A. HIPAA 

B. ENISA 

C. CSA CCM 

D. PCI DSS 

Correct Answer: D 

 

QUESTION 15

What is the purpose of a bitmap in snapshot creation? 

A. Keeps track of blocks that have changed in the filesystem 

B. Indicates the exact address from which data has to be read 

C. Indicates the exact address to where data has to be written 
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D. Keeps track of the number of blocks that are highly utilized 

Correct Answer: D 
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